1 2 3 | 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
oL A NEW RELEASE LJH 08/13/05' Y LJC 08/13/05’
ITEM | PART NAME Q'ty NOTES B 1 YCH 09/13/07' Y LJC 05/20/10°
— I 1 PLASTIC HOOD 2 | ABS C SN 1 201884 JiM3x10 | YCH 08/30/10° a2 LJC 08/30/10’
=T “_TEH o , [2:1] _LoNG BoLT 2 | #4-40 D MINUS P/N CODE | JLZ 12/16/14' Y
; |-| i - 2.2 SH(T)RT BOLT 2 #4-40 NOTES:
paog 3 3@l = | 1. PART NUMBER CODE:
- 4 LONG SCREW 2 M3 DS1046 — 09 X X X X
5 SMALL WASHER 2 T T 1WOSher type @
6 SHORT SCREW 2 M3 1 Metal
7 METAL WASHER 2 M3
30.8 Bolt type
L: Long
12.0 S: Short
) Packing type
ER ﬁ 1: Mix packing
—] —] Y
| ‘ I Cover Material
i C: Chromium plating
——  Position
! CONNELY. P
‘ sl 3
| -
D@ : B
I | !
! — gR—
J
t\il;// SHORT SCREW 2
‘ ;\ 13.7
QV' 4—40 UNC M3 3
1.8
\
N _ -
7.0 0 1.0 | |55
‘ & = 5.40
! Short BOLT UNT t=2.3mm
N MS 11 4 S\ 48
1 10.0 /_ |
I 253.2 |
232 | m
2 *i;t} @ *@z N
_ N ol t
A-40 UNC 9 o § Metal LONG SCREW
S ks SMALL WASHER
@ = I -—4—- GENERAL TOLERANCE| ANGLE TOLERANCE - TITLE
14.0| PROJECTION @ = 4 D—SUB 9pin Hood Chromium Plated
6.6 . 9 X. £0.60 X, 45 UNITS mm
13.5 ' i X +0.38 X 3 SHEET SIZE A4 | SERIES | DS1046 SERIES
305 XX £0.25 XX +2
47 >
DRAWING TYPE |COSTOMER )T% ﬁ]}] EE ? ﬁ I}E Z\ a
Long BOLT SCALE [ SHEET | 1 OF 1 co CTRONIC CO
DRAWING NO. | C—DS1046—09XXXX—C | COMMFLY NNFLY ELECTRON - LTD
1 2 I 3 4 | 5 6 I 7 I 8



Administrator
新建图章


1 2 3 | 4 5 | 6 I 7 | 8

BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
) A NEW RELEASE LJH 05/18,/05’ ~ LJC 05/18/05°
ITEM | PART NAME Qty NOTES B 305 0 ) YCH 09/13/07’ ~ LJC 09/13/07’
/—n—@—h ! PLASTIC HOOD Ve (S C | MINUSP/NCODE |JLZ 12/16/14" ~
u—m—u , |21 ] LONG BOLT 2 #4-40
| 2.2| SHORT BOLT 2 | #4-40 NWOE;T UMBER CODE:
‘ 33.32 ‘ 3 NUT % My DS1046 — 15 X X X X
392 4 LONG SCREW 2 M3 TT T washer type (C)
5 SMALL WASHER 2 1: Metal
6 SHORT SCREW 2 M3 Bolt type
L: Long
7 METAL WASHER 2 M3 S: Short
Packing type
1: Mix packing
1 Cover Material
= _\ C: Chromium plating
ﬁ \ ——  Position
| | 15: 15pin

CONMELY. ) —\
13.7

8’.’@ 1.8 \ 4-40 UNC
[ @%@ T
\ / 5.5

Short BOLT

35.9
37.1

8.0

7

'p)
O

LONG SCREW

<
M|
s
w 4 6

5 4.8
] /] 7.7 |
‘ > )17 MB‘E & =
ol == 235
. S+ — = - S
2 |
Metal . i
4—40 UNC 9 \
= 3 SHORT SCREW SMALL WASHER
—— \ GENERAL TOLERANCE| ANGLE TOLERANCE o [TTLE
i PROJECTION | @& [TMLE[ o 15 45001 Hood Chromium Plated
40 X. £0.60 X, %5 UNITS mm
66 2 1.0 = X +0.38 X 3 SHEET SIZE A4 | SERIES | DS1046 SERIES
135 3 g XX +0.25 XX %2
»
305 DRAWING TYPE [COSTOMER )1% ﬁl;] EE ? %‘ BE Z\ a
Lo BOLT SCALE 1:1 |SHEET [1 OF 1
ong B DRAWING NO. | C—DS1046—15XXXX connFLy CONNFLY ELECTRONIC CO. LTD
1 2 I 3 4 | 5 6 I 7 I 8



Administrator
新建图章


2 3 4 5 l 6 l 7 l 8

(-

REV. DESCRIPTION DRAWN CHECKED APPROVED
- A NEW RELEASE LJH 10/26/05' ~ LJC 10/26/05'
ITEM | PART NAME Qty NOTES B 439 4] f YCH 09/13/07’ ~ LJC 09/13/07’
54.0 1 PLASTIC HOOD | 2 | ABS C | MINUS P/N CODE |JLZ 12/16/14’ ~
, |2:1| LONG BOLT 2 #4-40
ELE ‘ 22| SHORT BOLT 2 #4-40
11.0
3 NUT 2 M3 NOTES:
\ 1 4 LONG SCREW 2 M3 1. PART NUMBER CODE:
Erl: ‘ :|1ﬂ 5 | SVALL WASHER | 2 DS1046 — 25 X X X X
T : y 6 SHORT SCREW. 2 | M3 Lﬁoazztype ©
| 7 METAL WASHER 2 M3 2 137 Bolt type
“ 4—40 UNC L: Long
Y4 18 S: Short
AN Packing type
L I N | p— 1: Mix packing
8.0 }
] ‘ 1.0 5.5 Cover Material
‘ 6.7 C: Chromium plating
! — Position
| Short BOLT 25 250in
\
| 3
< | |
o i
| :
[ i ’ T
| UNT t=2.3mm
|

40.8

A
o
\/"
Ul
8.78

6

M3

2 Metal
SHORT SCREW

&

©2.30

{ A\ GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @{} TITLE
I D—SUB 25pin Hood Chromium plated
4.0 . UNITS mm
6.6 o 1.0 = . X. £0.60 X. 5
: & 2 X 1038 X 3 SHEET SIZE A4 | SERIES | DS1046 SERIES

XX £0.25 XX 22

" SN A=
e — O G A

Long BOLT
’ DRAWING NO. | C—DS1046—25XXXX connFLY CONNFLY ELECTRONIC CO. LTD

30.5

2 I 3 4 | 5 6 I 7 I 38



Administrator
新建图章


2 3 4 5 | 6 | 7 | 8

53
51.

e REV. DESCRIPTION DRAWN CHECKED APPROVED
, A NEW RELEASE LJH 10/26,/05’ ~ LJC 10/26/05’
MG "M E Sibi NQIES B A 51 YCH 09/13/07" ~ LJC 09/13/07’
Vo ALt e & R C | MINUS P/N CODE | JLZ 12/16/14 ~
5 LONG BOLT 2 #4-40
SHORT BOLT 2 #4-40
3 NUT 2 M3
4 LONG SCREW 2 M3 NOTES:
1. PART NUMBER CODE:
5 SMALL WASHER 2 DS1046 — 37 % X X X
6 SHORT SCREW 2 M3 T T Washer type @
7 METAL WASHER | 2 | M3 1: Metal
Bolt type
L: Long
S: Short
Packing type
1 1: Mix packing
29.8 9.70 Cover Material
C: Chromium plating
|_|9 )|

Position

2 37: 37pin
_\ 13.7

& 1.8 \
SEY o 2 g
1.0 55
3
M3

6.7

Short BOLT

[ W
UNT t=2.3mm

12.05 LONG SCREW

4.8

o
I~
o
s
N
\/\’
L
U
e
8.78

6

M3
N\

2
\ SHORT SCREW

Q

4—-40 UNC

$2.30

.1 83.05

GENERAL TOLERANCE| ANGLE TOLERANCE —CF [TLE
@ ’ 5 PROJECTION [ © TTLE] o sus 37pin Hood Chromium plated
. UNITS mm
40_ . A X. +0.60 X. %5
= 2 L0 S X +0.38 X x3 SHEET SIZE A4 | SERIES [ DS1046 SERIES
e os XX +0.25 XX 2 — s
- DRAWING TYPE |COSTOMER @ = ﬁ[}] Eﬁ ? ﬁ I}E /A.\ a
SCALE 1:1 |SHEET [1 OF 1
Long BOLT
2 ' 3 4 | 5 6 I 7 I 8



Administrator
新建图章


